

Available online at www.sciencedirect.com



J. Math. Anal. Appl. 329 (2007) 1191–1203

Journal of MATHEMATICAL ANALYSIS AND APPLICATIONS

www.elsevier.com/locate/jmaa

Exponential type functional equation and its Hyers–Ulam stability

Sin-Ei Takahasi^{a,1}, Takeshi Miura^{a,*,1}, Hiroyuki Takagi^b

^a Department of Basic Technology, Applied Mathematics and Physics, Yamagata University, Yonezawa 992-8510, Japan ^b Department of Mathematical Sciences, Faculty of Science, Shinshu University, Matsumoto 390-8621, Japan

> Received 16 December 2005 Available online 10 August 2006 Submitted by S.R. Grace

Abstract

We give the solution of the functional equation $f(x + y) + \lambda f(x) f(y) = \Phi(x, y)$ under some conditions. Also we show its Hyers–Ulam stability. © 2006 Elsevier Inc. All rights reserved.

Keywords: Functional equation; Hyers-Ulam stability

1. Introduction and results

In [1], S. Butler posed the following problem: Show that for d < -1 there are exactly two solutions $f : \mathbb{R} \to \mathbb{R}$ of the functional equation

$$f(x+y) - f(x)f(y) = d\sin x \sin y \quad (x, y \in \mathbb{R}).$$

$$\tag{1}$$

M.Th. Rassias excellently answered this problem [6]. Recently, S.-M. Jung has proved that Eq. (1) has the Hyers–Ulam stability [4]. Here we note that (1) is of the form:

$$f(x+y) + \lambda f(x)f(y) = \Phi(x, y) \quad (x, y \in \mathbb{R}),$$
(2)

^{*} Corresponding author.

0022-247X/\$ – see front matter $\,$ © 2006 Elsevier Inc. All rights reserved. doi:10.1016/j.jmaa.2006.07.030

E-mail addresses: sin-ei@emperor.yz.yamagata-u.ac.jp (S.-E. Takahasi), miura@yz.yamagata-u.ac.jp (T. Miura), takagi@math.shinshu-u.ac.jp (H. Takagi).

¹ The first and second authors are partially supported by the Grant-in-Aid for Scientific Research, Japan Society for the Promotion of Science.

where λ is a nonzero complex number and Φ is a nonzero complex continuous function on \mathbb{R}^2 with $\Phi(x, y) = \Phi(y, x)$ $(x, y \in \mathbb{R})$. The symmetric condition $\Phi(x, y) = \Phi(y, x)$ is necessary for Eq. (2) to have a solution. In this paper, we consider the following two special cases:

(I)
$$\Phi(x, y) = \phi(x + y)$$
, (II) $\Phi(x, y) = \psi(x)\psi(y)$ $(x, y \in \mathbb{R})$,

where ϕ and ψ are nonzero complex continuous functions on \mathbb{R} .

Our first purpose is to solve the functional equation (2) in case (I) or (II). The case (I) is settled as follows:

Theorem 1. Let λ be a nonzero complex number and ϕ a nonzero complex continuous function on \mathbb{R} . If the functional equation

$$f(x+y) + \lambda f(x)f(y) = \phi(x+y) \quad (x, y \in \mathbb{R})$$
(3)

has a solution f, then ϕ is written as $\phi(x) = \rho e^{\alpha x}$ ($x \in \mathbb{R}$), where ρ and α are complex numbers and $\rho \neq 0$. In fact, the solution f of the equation

$$f(x+y) + \lambda f(x)f(y) = \rho e^{\alpha(x+y)} \quad (x, y \in \mathbb{R})$$
(4)

is given by

$$f(x) = \frac{-1 \pm \sqrt{1 + 4\lambda\rho}}{2\lambda} e^{\alpha x} \quad (x \in \mathbb{R}).$$
(5)

The symbol \sqrt{z} denotes one of the square roots of the complex number z.

In this paper, the ambiguity in the choice of the square roots of nonzero z is absorbed, because we will deal with two square roots at the same time.

A part of the case (II) is described like Theorem 1.

Theorem 2. Let λ be a nonzero complex number and ψ a nonzero complex continuous function on \mathbb{R} with $\psi(0) \neq 0$. If the functional equation

$$f(x+y) + \lambda f(x)f(y) = \psi(x)\psi(y) \quad (x, y \in \mathbb{R})$$
(6)

has a solution f, then ψ satisfies $\psi(x)\psi(y) = \rho e^{\alpha(x+y)}$ $(x, y \in \mathbb{R})$ for some complex numbers ρ , α with $\rho \neq 0$. For such ψ , (6) becomes (4).

We next change the assumption $\psi(0) \neq 0$ into $\psi(0) = 0$ in Theorem 2.

Theorem 3. Let λ be a nonzero complex number and ψ be a nonzero complex function on \mathbb{R} with $\psi(0) = 0$ and $\psi(c) \neq 0$ for some $c \in \mathbb{R}$. Then the functional equation (6) has a solution if and only if

$$\lambda^{2}\psi(c)^{2}\psi(x)\psi(y)A^{2} +\lambda\psi(c)\{\psi(x+y)\psi(c) - \psi(y+c)\psi(x) - \psi(x+c)\psi(y)\}A +\psi(x+c)\psi(y+c) - \psi(x+y+c)\psi(c) - \lambda\psi(c)^{2}\psi(x)\psi(y) = 0$$
(7)

holds for every $x, y \in \mathbb{R}$, where A is a solution of the quadratic equation

$$\lambda^2 \psi(c)^4 z^2 - \lambda \psi(2c) \psi(c)^2 z + \psi(2c)^2 - \psi(3c) \psi(c) - \lambda \psi(c)^4 = 0.$$
(8)

In this case, the solution f of (6) is given by

$$f(x) = A\psi(x) - \frac{1}{\lambda\psi(c)}\psi(x+c) \quad (x \in \mathbb{R}).$$
(9)

Corollary 4. Let λ be a nonzero complex number and ψ be a nonzero complex function on \mathbb{R} with $\psi(0) = 0$ and $\psi(c) \neq 0$ for some $c \in \mathbb{R}$. Suppose that

$$\psi(c)\psi(x+y) = \psi(x)\psi(y+c) + \psi(x+c)\psi(y)$$
(10)

holds for every $x, y \in \mathbb{R}$. Then the functional equation (6) has a solution and the solution f is given by

$$f(x) = \pm \frac{1}{\lambda} \sqrt{\lambda + \frac{\psi(3c)}{\psi(c)^3}} \psi(x) - \frac{1}{\lambda \psi(c)} \psi(x+c) \quad (x \in \mathbb{R}).$$
(11)

The example of the function ψ satisfying (10) will be given in Section 5.

The second purpose of this paper is to investigate the Hyers–Ulam stability of Eq. (2). The Hyers–Ulam stability is the concept based on Ulam's problem [8] and Hyers' result [3]. We may find some results on the Hyers–Ulam stability of various equations in many papers (for example, [2,4,5]). First, we show the Hyers–Ulam stability of Eq. (4) that appeared in Theorems 1 and 2, under the assumption that α is purely imaginary.

Theorem 5. Let λ and ρ be nonzero complex numbers and θ a real number. For the functional equation

$$f(x+y) + \lambda f(x)f(y) = \rho e^{i\theta(x+y)} \quad (x, y \in \mathbb{R}),$$
(12)

there exists a constant $K = K(\lambda, \rho)$ with the following property: For any nonnegative number $\varepsilon < |\rho|$ and any complex function g on \mathbb{R} satisfying

$$\left|g(x+y) + \lambda g(x)g(y) - \rho e^{i\theta(x+y)}\right| \leq \varepsilon \quad (x, y \in \mathbb{R}),$$
(13)

there is a solution f of (12) such that

$$|g(x) - f(x)| \leq K\left(\varepsilon + \sqrt{\varepsilon}\right) \quad (x \in \mathbb{R}).$$
⁽¹⁴⁾

Next, we consider the Hyers–Ulam stability of Eq. (6) in Theorem 2.

Theorem 6. Let λ , ψ and c be as in Corollary 4, and suppose that ψ is bounded on \mathbb{R} . For the functional equation (6), there exists a constant $K = K(\lambda, \psi, c)$ with the following property: For any nonnegative number $\varepsilon < |\psi(c)|^2$ and any complex function g on \mathbb{R} satisfying

$$\left|g(x+y) + \lambda g(x)g(y) - \psi(x)\psi(y)\right| \leq \varepsilon \quad (x, y \in \mathbb{R}),$$
(15)

there is a solution f of (6) such that (14) holds.

Corollary 4 and Theorem 6 are generalizations of the results by M.Th. Rassias [6] and by S.-M. Jung [4]. We explain this fact in the last section.

2. Lemmas

In this section, we deal with the general functional equation (2). First we consider the exceptional case $\Phi(x, y) = 0$.

Lemma 1. Let λ be a nonzero complex number. If a nonzero complex continuous function f on \mathbb{R} satisfies

$$f(x+y) + \lambda f(x)f(y) = 0 \quad (x, y \in \mathbb{R}),$$
(16)

then there exists a complex number α such that $f(x) = -\frac{1}{\lambda}e^{\alpha x}$ ($x \in \mathbb{R}$).

Proof. Define $g(x) = -\lambda f(x)$ for $x \in \mathbb{R}$. Then g is a nonzero complex continuous function on \mathbb{R} . Also, (16) implies

$$g(x + y) = g(x)g(y)$$
 $(x, y \in \mathbb{R}).$

It is well known that such a function g is written as $g(x) = e^{\alpha x}$ $(x \in \mathbb{R})$ for some complex number α (see [7, Chapter 8, Exercise 6]). Hence $f(x) = -\frac{1}{\lambda}g(x) = -\frac{1}{\lambda}e^{\alpha x}$ for $x \in \mathbb{R}$. \Box

Let λ be a nonzero complex number and Φ a nonzero complex function on \mathbb{R}^2 . Choose a point $(a, b) \in \mathbb{R}^2$ so that $\Phi(a, b) \neq 0$. For any complex function g on \mathbb{R} , define a function $g_{a,b}$ on \mathbb{R} by

$$g_{a,b}(x) = \frac{1}{\lambda \Phi(a,b)} \left(\lambda g(a) \Phi(x,b) + \Phi(x,a+b) - \Phi(x+b,a) \right) \quad (x \in \mathbb{R}).$$
(17)

Lemma 2. Let λ , Φ and (a, b) be as above. If $\varepsilon \ge 0$ and if a complex function g on \mathbb{R} satisfies

$$\left|g(x+y) + \lambda g(x)g(y) - \Phi(x,y)\right| \leq \varepsilon \quad (x, y \in \mathbb{R}),$$
(18)

then

$$\left|g(x) - g_{a,b}(x)\right| \leqslant \frac{2 + |\lambda|(|g(x)| + |g(a)|)}{|\lambda \Phi(a,b)|} \varepsilon \quad (x \in \mathbb{R}).$$

$$(19)$$

Proof. Putting y = a + b in (18), we obtain

 $|g(x+a+b)+\lambda g(x)g(a+b)-\Phi(x,a+b)| \leq \varepsilon.$

Replacing x by x + b and y by a in (18), we obtain

$$\left|g(x+a+b)+\lambda g(x+b)g(a)-\Phi(x+b,a)\right|\leqslant\varepsilon.$$

Hence we compute

$$\begin{aligned} \left| \lambda \Phi(a,b) \right| \left| g(x) - g_{a,b}(x) \right| \\ &= \left| \lambda \Phi(a,b)g(x) - \lambda g(a)\Phi(x,b) - \Phi(x,a+b) + \Phi(x+b,a) \right| \\ &= \left| -\lambda g(x) \left(g(a+b) + \lambda g(a)g(b) - \Phi(a,b) \right) \right| \\ &+ \lambda g(a) \left(g(x+b) + \lambda g(x)g(b) - \Phi(x,b) \right) \\ &+ \left(g(x+a+b) + \lambda g(x)g(a+b) - \Phi(x,a+b) \right) \\ &- \left(g(x+a+b) + \lambda g(x+b)g(a) - \Phi(x+b,a) \right) \end{aligned}$$

$$\leq |\lambda| |g(x)| |g(a+b) + \lambda g(a)g(b) - \Phi(a,b)| + |\lambda| |g(a)| |g(x+b) + \lambda g(x)g(b) - \Phi(x,b)| + |g(x+a+b) + \lambda g(x)g(a+b) - \Phi(x,a+b)| + |g(x+a+b) + \lambda g(x+b)g(a) - \Phi(x+b,a)| \leq |\lambda| |g(x)|\varepsilon + |\lambda| |g(a)|\varepsilon + \varepsilon + \varepsilon = (2 + |\lambda| (|g(x)| + |g(a)|))\varepsilon.$$

Dividing both sides of the resulting inequality by $|\lambda \Phi(a, b)|$, we get (19). \Box

Lemma 3. Let Φ , λ and (a, b) be as in Lemma 2. If the functional equation (2) has a solution f, then f is of the form

$$f(x) = \frac{1}{\lambda \Phi(a,b)} \left(\lambda f(a) \Phi(x,b) + \Phi(x,a+b) - \Phi(x+b,a) \right) \quad (x \in \mathbb{R}).$$

Proof. In Lemma 2, put $\varepsilon = 0$ and g = f. \Box

3. Proofs of Theorems 1–3 and Corollary 4

Proof of Theorem 1. Suppose that there exists a complex function f on \mathbb{R} satisfying (3). Put A = f(0). Substituting y = 0 in (3), we obtain

$$\phi(x) = (1 + \lambda A) f(x) \quad (x \in \mathbb{R}).$$
⁽²⁰⁾

Since ϕ is nonzero and continuous, $1 + \lambda A \neq 0$ and f is a nonzero continuous function on \mathbb{R} . Combining (20) with (3), we get Af(x + y) - f(x)f(y) = 0 ($x, y \in \mathbb{R}$). Moreover, $A \neq 0$, because A = 0 implies f = 0. Thus we have the equation $f(x + y) - \frac{1}{A}f(x)f(y) = 0$ ($x, y \in \mathbb{R}$). According to Lemma 1, there is a complex number α such that

$$f(x) = Ae^{\alpha x} \quad (x \in \mathbb{R}).$$
⁽²¹⁾

If we put

$$\rho = A(1 + \lambda A),\tag{22}$$

then $\rho \neq 0$ and

$$\phi(x) = (1 + \lambda A)Ae^{\alpha x} = \rho e^{\alpha x} \quad (x \in \mathbb{R})$$

by (20) and (21). Moreover, (22) implies $A = (-1 \pm \sqrt{1 + 4\lambda\rho})/2\lambda$, and so (21) leads to (5). Conversely, a straightforward computation shows that the functions f defined by (5) satisfy (4). \Box

Proof of Theorem 2. Suppose that there exists a complex function f on \mathbb{R} satisfying (6). Substituting y = 0 in (6), we obtain

$$\psi(x) = \frac{1 + \lambda f(0)}{\psi(0)} f(x) = A f(x) \quad (x \in \mathbb{R}),$$

where $A = (1 + \lambda f(0))/\psi(0)$. Since ψ is nonzero, $A \neq 0$, and so $f(x) = \psi(x)/A$ ($x \in \mathbb{R}$). Hence (6) yields

$$\psi(x+y) + \frac{\lambda - A^2}{A}\psi(x)\psi(y) = 0 \quad (x, y \in \mathbb{R}).$$

Here $\lambda - A^2 \neq 0$, for if not, then $\psi = 0$. Applying Lemma 1, we find a complex number α such that $\psi(x) = (-A/(\lambda - A^2))e^{\alpha x}$ ($x \in \mathbb{R}$). If we put $\rho = A^2/(\lambda - A^2)^2$, then $\rho \neq 0$ and

$$\psi(x)\psi(y) = \frac{A^2}{(\lambda - A^2)^2} e^{\alpha x} e^{\alpha y} = \rho e^{\alpha(x+y)} \quad (x, y \in \mathbb{R}).$$

Proof of Theorem 3. Suppose that the functional equation (6) has a solution f. It follows from Lemma 3 with $\Phi(x, y) = \psi(x)\psi(y)$ ($x, y \in \mathbb{R}$) and a = b = c, that f is of the form

$$f(x) = \frac{1}{\lambda \psi(c)^2} \left(\lambda f(c) \psi(x) \psi(c) + \psi(x) \psi(2c) - \psi(x+c) \psi(c) \right)$$
$$= A \psi(x) - \frac{1}{\lambda \psi(c)} \psi(x+c) \quad (x \in \mathbb{R}),$$
(23)

where $A = (\lambda f(c)\psi(c) + \psi(2c))/\lambda \psi(c)^2$. Since f is a solution of (6), if we substitute (23) into (6), then we obtain

$$A\psi(x+y) - \frac{1}{\lambda\psi(c)}\psi(x+y+c) + \lambda\left(A\psi(x) - \frac{1}{\lambda\psi(c)}\psi(x+c)\right)\left(A\psi(y) - \frac{1}{\lambda\psi(c)}\psi(y+c)\right) = \psi(x)\psi(y)$$
(24)

for all $x, y \in \mathbb{R}$. In particular, if we put x = y = c in (24), then we get

$$\lambda^2 \psi(c)^4 A^2 - \lambda \psi(2c) \psi(c)^2 A + \psi(2c)^2 - \psi(3c) \psi(c) - \lambda \psi(c)^4 = 0.$$

This implies that *A* is a solution of the quadratic equation (8). By a simple calculation, we see from (24) that (7) holds for every $x, y \in \mathbb{R}$.

Conversely, suppose that (7) holds for every $x, y \in \mathbb{R}$. We will show that the functional equation (6) has a solution. In fact, if we put $f(x) = A\psi(x) - \psi(x+c)/\lambda\psi(c)$ for $x \in \mathbb{R}$, then we have

$$f(x + y) + \lambda f(x) f(y)$$

$$= A\psi(x + y) - \frac{1}{\lambda\psi(c)}\psi(x + y + c)$$

$$+ \lambda \left(A\psi(x) - \frac{1}{\lambda\psi(c)}\psi(x + c)\right) \left(A\psi(y) - \frac{1}{\lambda\psi(c)}\psi(y + c)\right)$$

$$= \frac{1}{\lambda\psi(c)^{2}} \left[\lambda^{2}\psi(c)^{2}\psi(x)\psi(y)A^{2} + \lambda\psi(c)\left\{\psi(x + y)\psi(c) - \psi(y + c)\psi(x) - \psi(x + c)\psi(y)\right\}A + \psi(x + c)\psi(y + c) - \psi(x + y + c)\psi(c)\right]$$
(25)

for every $x, y \in \mathbb{R}$. Since (7) is assumed to hold, it follows from (25) that

$$f(x+y) + \lambda f(x)f(y) = \frac{1}{\lambda\psi(c)^2}\lambda\psi(c)^2\psi(x)\psi(y) = \psi(x)\psi(y)$$

for every $x, y \in \mathbb{R}$. This proves that the functional equation (6) has a solution.

From the argument above, we see that the solution of the functional equation (6) is given by (9), where A is a solution of the quadratic equation (8). This completes the proof. \Box

Proof of Corollary 4. Note that if we put x = y = c in (10), then we obtain

$$\psi(2c) = 0. \tag{26}$$

We will prove that (7) holds for every $x, y \in \mathbb{R}$, where A is a solution of the quadratic equation (8): By (26) with (8), A satisfies

$$\lambda^2 \psi(c)^4 A^2 - \psi(3c)\psi(c) - \lambda \psi(c)^4 = 0.$$
⁽²⁷⁾

Fix $x, y \in \mathbb{R}$ arbitrarily. By (27) we have

$$\lambda^2 \psi(c)^2 \psi(x) \psi(y) A^2 - \lambda \psi(c)^2 \psi(x) \psi(y) = \frac{\psi(3c)}{\psi(c)} \psi(x) \psi(y).$$

Therefore, to prove (7) it is enough to show that

$$\frac{\psi(3c)}{\psi(c)}\psi(x)\psi(y) = \psi(x+y+c)\psi(c) - \psi(x+c)\psi(y+c).$$
(28)

To do this, put y = 2c in (10). With (26), we have

 $\psi(c)\psi(x+2c) - \psi(x)\psi(3c) = 0.$

This implies that

$$\frac{\psi(3c)}{\psi(c)}\psi(x)\psi(y) = \psi(x+2c)\psi(y). \tag{29}$$

If we replace x by x + c in (10), then we get

$$\psi(c)\psi(x+y+c) - \psi(x+c)\psi(y+c) - \psi(x+2c)\psi(y) = 0,$$

and hence

$$\psi(x+2c)\psi(y) = \psi(c)\psi(x+y+c) - \psi(x+c)\psi(y+c).$$
(30)

By (29) and (30), we conclude that (28) holds. By Theorem 3, the functional equation (6) has a solution and the solution f is of the form

$$f(x) = A\psi(x) - \frac{1}{\lambda\psi(c)}\psi(x+c) \quad (x \in \mathbb{R}).$$

Since A satisfies (27), we see that

$$A = \pm \frac{1}{\lambda} \sqrt{\lambda + \frac{\psi(3c)}{\psi(c)^3}},$$

and the proof is complete. \Box

4. Proofs of Theorems 5 and 6

Proof of Theorem 5. Choose ε so that $0 \le \varepsilon < |\rho|$, and let g be a complex function on \mathbb{R} satisfying (13). We first observe that g is bounded on \mathbb{R} . Putting y = 0 in (13), we obtain

$$\left| \left(1 + \lambda g(0) \right) g(x) - \rho e^{i\theta x} \right| \leq \varepsilon \quad (x \in \mathbb{R}).$$

Since $\varepsilon < |\rho|$, it is impossible that $1 + \lambda g(0) = 0$. Hence $1 + \lambda g(0) \neq 0$. Thus $|g(x)| \leq (|\rho| + \varepsilon)/|1 + \lambda g(0)|$ for all $x \in \mathbb{R}$. This means that g is bounded on \mathbb{R} . Put $m = \sup\{|g(x)|: x \in \mathbb{R}\}$. Since (13) implies

$$\left|\lambda g(x)g(y)\right| \leq \left|g(x+y)\right| + |\rho| + \varepsilon < \left|g(x+y)\right| + 2|\rho| \quad (x, y \in \mathbb{R}),$$

it follows that $|\lambda|m^2 \leq m + 2|\rho|$, and so

$$m \leqslant \frac{1 + \sqrt{1 + 8|\lambda\rho|}}{2|\lambda|}.$$

Put $\Phi(x, y) = \rho e^{i\theta(x+y)}$ $(x, y \in \mathbb{R})$. Since $\Phi(0, 0) = \rho$, (17) with a = b = 0 becomes

$$g_{0,0}(x) = \frac{1}{\lambda \rho} \left(\lambda g(0) \rho e^{i\theta x} + \rho e^{i\theta x} - \rho e^{i\theta x} \right) = g(0) e^{i\theta x} \quad (x \in \mathbb{R}),$$

and Lemma 2 says that (13) implies that

$$\left|g(x) - g_{0,0}(x)\right| \leq \frac{2 + |\lambda|(|g(x)| + |g(0)|)}{|\lambda\rho|}\varepsilon$$
$$\leq \frac{2 + 2|\lambda|m}{|\lambda\rho|}\varepsilon \leq \frac{3 + \sqrt{1 + 8|\lambda\rho|}}{|\lambda\rho|}\varepsilon \quad (x \in \mathbb{R}).$$
(31)

Next, we substitute x = y = 0 in (13) to see that $|g(0) + \lambda g(0)^2 - \rho| \le \varepsilon$. This inequality can be written in the form

$$|\lambda| |g(0) - A_1| |g(0) - A_2| \leq \varepsilon,$$

where

$$A_1 = \frac{-1 + \sqrt{1 + 4\lambda\rho}}{2\lambda}$$
 and $A_2 = \frac{-1 - \sqrt{1 + 4\lambda\rho}}{2\lambda}$.

Hence we have either

$$|g(0) - A_1| \leq \sqrt{\frac{\varepsilon}{|\lambda|}}$$
 or $|g(0) - A_2| \leq \sqrt{\frac{\varepsilon}{|\lambda|}}$.

Write A for A_i with $|g(0) - A_i| \leq \sqrt{\varepsilon/|\lambda|}$, and put $f(x) = Ae^{i\theta x}$ for $x \in \mathbb{R}$. By Theorem 1, we know that f is a solution of (12). Moreover, we have

$$\left|g_{0,0}(x) - f(x)\right| = \left|\left(g(0) - A\right)e^{i\theta x}\right| = \left|g(0) - A\right| \leqslant \sqrt{\frac{\varepsilon}{|\lambda|}} \quad (x \in \mathbb{R}).$$

$$(32)$$

Put

$$K = \max\left\{\frac{3 + \sqrt{1 + 8|\lambda\rho|}}{|\lambda\rho|}, \frac{1}{\sqrt{|\lambda|}}\right\}.$$

Then (31) and (32) show that

$$\left|g(x) - f(x)\right| \leq \left|g(x) - g_{0,0}(x)\right| + \left|g_{0,0}(x) - f(x)\right| \leq K\left(\varepsilon + \sqrt{\varepsilon}\right) \quad (x \in \mathbb{R}).$$

Remark 1. In Theorem 5, we only proved the Hyers–Ulam stability for $\varepsilon < |\rho|$. In general, the Hyers–Ulam stability does not hold for $\varepsilon \ge |\rho|$. To see this, pick $\varepsilon \ge |\rho|$ arbitrarily. Put $g(x) = -e^x/\lambda$ for $x \in \mathbb{R}$. Then

$$g(x+y) + \lambda g(x)g(y) = 0$$

holds for every $x, y \in \mathbb{R}$. In particular, (13) is satisfied since $|\rho| \leq \varepsilon$. On the other hand, it follows from Theorem 1 that the solution f of the functional equation (12) is given by

$$f(x) = Ae^{i\theta x} \quad (x \in \mathbb{R}).$$

where $A = (-1 \pm \sqrt{1 + 4\lambda\rho})/2\lambda$. Since |f(x)| = |A| on \mathbb{R} , we have

$$\sup_{x \in \mathbb{R}} |g(x) - f(x)| \ge \frac{1}{|\lambda|} \sup_{x \in \mathbb{R}} e^x - |A| = \infty.$$

This implies that if $\varepsilon \ge |\rho|$, then there exists an approximate solution g of (12) such that g is not near to any solution f of (12).

Remark 2. In Theorem 5, we only considered the functional equation (4) with $\alpha = i\theta$. If we consider the case where the real part Re $\alpha \neq 0$, then the following is true: If ε , $M \ge 0$ and if

 $f(x+y) + \lambda f(x)f(y) = \rho e^{\alpha(x+y)}, \qquad \left|g(x+y) + \lambda g(x)g(y) - \rho e^{\alpha(x+y)}\right| \leq \varepsilon$

and $|g(x) - f(x)| \leq M$ for all $x, y \in \mathbb{R}$, then g = f.

In fact, put h = g - f, and hence $|h(x)| \leq M$ for all $x \in \mathbb{R}$. By hypothesis,

$$\begin{aligned} \left| h(x+y) + f(x+y) + \lambda \left(h(x) + f(x) \right) \left(h(y) + f(y) \right) - \rho e^{\alpha(x+y)} \right| \\ &= \left| g(x+y) + \lambda g(x) g(y) - \rho e^{\alpha(x+y)} \right| \leq \varepsilon \end{aligned}$$

for all $x, y \in \mathbb{R}$. Since f is a solution of the functional equation (4), we have

$$\left|h(x+y) + \lambda \left(h(x)h(y) + h(x)f(y) + h(y)f(x)\right)\right| \leq \varepsilon \quad (x, y \in \mathbb{R}).$$

By the triangle inequality,

$$\begin{aligned} \left|\lambda h(y)f(x)\right| &\leq \varepsilon + \left|h(x+y)\right| + \left|\lambda\right| \left|h(x)\right| \left(\left|h(y)\right| + \left|f(y)\right|\right) \\ &\leq \varepsilon + M + \left|\lambda\right| M \left(M + \left|f(y)\right|\right) \end{aligned}$$

for all $x, y \in \mathbb{R}$ since $|h| \leq M$ on \mathbb{R} . Now assume, on the contrary, that there exists $x_0 \in \mathbb{R}$ such that $h(x_0) \neq 0$. Then we get

$$\left|\lambda h(x_0)f(x)\right| \leq \varepsilon + M + |\lambda|M(M + |f(x_0)|),$$

and hence

$$|f(x)| \leq \frac{\varepsilon + M + |\lambda|M(M + |f(x_0)|)}{|\lambda h(x_0)|}$$

for all $x \in \mathbb{R}$. Therefore, f is a bounded function on \mathbb{R} . On the other hand, since f is a solution of Eq. (4), f is of the form $f(x) = Ae^{\alpha x}$ for $x \in \mathbb{R}$ by Theorem 1, where $A = (-1 \pm \sqrt{1 + 4\lambda\rho})/2\lambda$. Because $\operatorname{Re} \alpha \neq 0$, f is an unbounded function on \mathbb{R} , which is a contradiction. We thus conclude that h = 0 on \mathbb{R} , that is, g = f.

Proof of Theorem 6. Choose ε so that $0 \le \varepsilon < |\psi(c)|^2$, and let g be a complex function satisfying (15). Putting $\Phi(x, y) = \psi(x)\psi(y)$ $(x, y \in \mathbb{R})$ and a = b = c in (17), and using (26), we see that

$$g_{c,c}(x) = \frac{1}{\lambda \psi(c)^2} \Big(\lambda g(c) \psi(x) \psi(c) + \psi(x) \psi(2c) - \psi(x+c) \psi(c) \Big)$$
$$= \frac{g(c)}{\psi(c)} \psi(x) - \frac{1}{\lambda \psi(c)} \psi(x+c) \quad (x \in \mathbb{R}).$$
(33)

Since ψ is bounded on \mathbb{R} , so is $g_{c,c}$. Also, Lemma 2 says that (15) implies

$$\left|g(x) - g_{c,c}(x)\right| \leq \frac{2 + |\lambda|(|g(x)| + |g(c)|)}{|\lambda\psi(c)^2|}\varepsilon \quad (x \in \mathbb{R}).$$

$$(34)$$

Hence

$$\left(1-\frac{\varepsilon}{|\psi(c)|^2}\right)|g(x)| \leq \left|g_{c,c}(x)\right| + \frac{2+|\lambda g(c)|}{|\lambda \psi(c)^2|}\varepsilon \quad (x \in \mathbb{R}).$$

Since $\varepsilon < |\psi(c)|^2$ and since $g_{c,c}$ is bounded on \mathbb{R} , it follows that g is also bounded on \mathbb{R} . Put $m = \sup\{|g(x)|: x \in \mathbb{R}\}$ and $M_{\psi} = \sup\{|\psi(x)|: x \in \mathbb{R}\}$ (recall that ψ is bounded). By (15), we have $|\lambda g(x)g(y)| \leq |g(x+y)| + |\psi(x)\psi(y)| + \varepsilon (x, y \in \mathbb{R})$, and so $|\lambda|m^2 \leq m + M_{\psi}^2 + |\psi(c)|^2$. Hence m is less than or equal to

$$M_g = \frac{1 + \sqrt{1 + 4(M_{\psi}^2 + |\psi(c)|^2)|\lambda|}}{2|\lambda|}$$

Clearly, the constant M_g depends only on λ , ψ and c. Since $|g(x)| \leq M_g$ for all $x \in \mathbb{R}$, it follows from (34) that

$$\left|g(x) - g_{c,c}(x)\right| \leqslant \frac{2 + 2|\lambda| M_g}{|\lambda \psi(c)^2|} \varepsilon \quad (x \in \mathbb{R}).$$
(35)

Next, we substitute x = 2c in (33) and use (26) to see that

$$g_{c,c}(2c) = \frac{g(c)}{\psi(c)}\psi(2c) - \frac{1}{\lambda\psi(c)}\psi(3c) = -\frac{\psi(3c)}{\lambda\psi(c)}.$$
(36)

The same substitution turns (35) into

$$\left|g(2c)-g_{c,c}(2c)\right|\leqslant \frac{2+2|\lambda|M_g}{|\lambda\psi(c)^2|}\varepsilon,$$

while the substitution x = y = c in (15) provides $|g(2c) + \lambda g(c)^2 - \psi(c)^2| \le \varepsilon$. Hence

$$\begin{aligned} \left| \lambda g(c)^{2} - \psi(c)^{2} + g_{c,c}(2c) \right| &\leq \left| \lambda g(c)^{2} - \psi(c)^{2} + g(2c) \right| + \left| g_{c,c}(2c) - g(2c) \right| \\ &\leq \left(1 + \frac{2 + 2|\lambda|M_{g}}{|\lambda\psi(c)^{2}|} \right) \varepsilon. \end{aligned}$$

With (36), the left side can be written as follows:

$$\begin{aligned} \left| \lambda g(c)^{2} - \psi(c)^{2} + g_{c,c}(2c) \right| &= |\lambda| \left| g(c)^{2} - \frac{\psi(c)^{2}}{\lambda} - \frac{\psi(3c)}{\lambda^{2}\psi(c)} \right| \\ &= |\lambda| \left| g(c)^{2} - \frac{\psi(c)^{2}}{\lambda^{2}} \left(\lambda + \frac{\psi(3c)}{\psi(c)^{3}} \right) \right| \\ &= |\lambda| \left| g(c) - A_{1}\psi(c)w \right| \left| g(c) - A_{2}\psi(c) \right|, \end{aligned}$$

where

$$A_1 = \frac{1}{\lambda} \sqrt{\lambda + \frac{\psi(3c)}{\psi(c)^3}}$$
 and $A_2 = -\frac{1}{\lambda} \sqrt{\lambda + \frac{\psi(3c)}{\psi(c)^3}}.$

Hence either $|g(c) - A_1\psi(c)|$ or $|g(c) - A_2\psi(c)|$ is bounded by

$$\sqrt{\frac{1}{|\lambda|} \left(1 + \frac{2+2|\lambda|M_g}{|\lambda\psi(c)^2|}\right)} \sqrt{\varepsilon}.$$

If $|g(c) - A_i \psi(c)|$ is truly bounded by the above quantity, then we write A instead of A_i and put

$$f(x) = A\psi(x) - \frac{1}{\lambda\psi(c)}\psi(x+c) \quad (x \in \mathbb{R}).$$
(37)

By Corollary 4, f is a solution of (6). By (33), (37) and our choice of $A = A_i$, we obtain

$$\left|g_{c,c}(x) - f(x)\right| \leq \left|\frac{g(c)}{\psi(c)}\psi(x) - A\psi(x)\right| = \frac{1}{|\psi(c)|} \left|g(c) - A\psi(c)\right| \left|\psi(x)\right|$$
$$\leq \frac{1}{|\psi(c)|} \sqrt{\frac{1}{|\lambda|} \left(1 + \frac{2 + 2|\lambda|M_g}{|\lambda\psi(c)^2|}\right)} M_{\psi} \sqrt{\varepsilon} \quad (x \in \mathbb{R}).$$
(38)

Now put

$$K = \max\left\{\frac{2+2|\lambda|M_g}{|\lambda\psi(c)^2|}, \frac{1}{|\psi(c)|}\sqrt{\frac{1}{|\lambda|}\left(1+\frac{2+2|\lambda|M_g}{|\lambda\psi(c)^2|}\right)}M_{\psi}\right\},\$$

which depends only on λ , ψ and c. Then (35) and (38) yield (14). \Box

5. An example

Let us give some applications of Theorems 3 and 6.

Corollary 7. Let λ and β be nonzero complex numbers. Then the functional equation

$$f(x+y) + \lambda f(x) f(y) = \beta x y \quad (x, y \in \mathbb{R})$$
(39)

has a solution and the solution f is given by

$$f(x) = \pm \sqrt{\frac{\beta}{\lambda}} x - \frac{1}{\lambda} \quad (x \in \mathbb{R}).$$
(40)

Proof. Put $\psi(x) = \sqrt{\beta}x$ for $x \in \mathbb{R}$. Take c = 1 in (8):

$$\lambda^2 \beta^2 z^2 - 2\lambda \beta \sqrt{\beta} z + \beta - \lambda \beta^2 = 0.$$

Let A be a solution of the quadratic equation above, that is,

$$A = \frac{\sqrt{\beta} \pm \beta \sqrt{\lambda}}{\lambda \beta}.$$

It is easy to see that $A\psi(x) - \psi(x+1)/\lambda\psi(1)$ is a solution of the functional equation (39). By Theorem 3, the solution of (39) is of the form (40). \Box

Remark 3. Let ψ be as in Corollary 7. It is obvious that ψ does not hold (10) for any $c, x, y \in \mathbb{R} \setminus \{0\}$. On the other hand, the functional equation (39) has a solution by Corollary 7. Therefore, (10) is not necessary but sufficient for Eq. (6) to have a solution.

Corollary 8. Let λ , ρ , α , β be complex numbers with $\lambda \neq 0$, $\rho \neq 0$ and $\alpha \neq \beta$. Then the functional equation

$$f(x+y) + \lambda f(x)f(y) = \rho \left(e^{\alpha x} - e^{\beta x}\right) \left(e^{\alpha y} - e^{\beta y}\right) \quad (x, y \in \mathbb{R})$$
(41)

has a solution and the solution is given by

$$f(x) = \pm \frac{\sqrt{1+4\lambda\rho}}{2\lambda} \left(e^{\alpha x} - e^{\beta x} \right) - \frac{1}{2\lambda} \left(e^{\alpha x} + e^{\beta x} \right) \quad (x \in \mathbb{R}).$$

Proof. Define a complex function ψ on \mathbb{R} by

$$\psi(x) = \sqrt{\rho} \left(e^{\alpha x} - e^{\beta x} \right) \quad (x \in \mathbb{R}).$$
(42)

Clearly, $\psi(0) = 0$. Take $c = \pi i / (\beta - \alpha)$. Then

$$e^{\beta c} = \exp \frac{\beta \pi i}{\beta - \alpha} = \exp\left(\pi i + \frac{\alpha \pi i}{\beta - \alpha}\right) = \exp \pi i \exp \frac{\alpha \pi i}{\beta - \alpha} = -e^{\alpha c}.$$
 (43)

Hence

$$\psi(c) = \sqrt{\rho} \left(e^{\alpha c} - e^{\beta c} \right) = 2\sqrt{\rho} e^{\alpha c} \neq 0.$$
(44)

Also, ψ satisfies the condition (10), because we use (43) and (44) to compute

$$\begin{split} \psi(x)\psi(y+c) + \psi(x+c)\psi(y) \\ &= \sqrt{\rho} (e^{\alpha x} - e^{\beta x})\sqrt{\rho} (e^{\alpha(y+c)} - e^{\beta(y+c)}) + \sqrt{\rho} (e^{\alpha(x+c)} - e^{\beta(x+c)})\sqrt{\rho} (e^{\alpha y} - e^{\beta y}) \\ &= \rho (e^{\alpha c} e^{\alpha(x+y)} - e^{\beta c} e^{\alpha x+\beta y} - e^{\alpha c} e^{\beta x+\alpha y} + e^{\beta c} e^{\beta(x+y)} \\ &+ e^{\alpha c} e^{\alpha(x+y)} - e^{\alpha c} e^{\alpha x+\beta y} - e^{\beta c} e^{\beta x+\alpha y} + e^{\beta c} e^{\beta(x+y)}) \\ &= \rho e^{\alpha c} (e^{\alpha(x+y)} + e^{\alpha x+\beta y} - e^{\beta x+\alpha y} - e^{\beta(x+y)}) \\ &+ e^{\alpha(x+y)} - e^{\alpha x+\beta y} + e^{\beta x+\alpha y} - e^{\beta(x+y)}) \\ &= 2\rho e^{\alpha c} (e^{\alpha(x+y)} - e^{\beta(x+y)}) = 2\sqrt{\rho} e^{\alpha c} \sqrt{\rho} (e^{\alpha(x+y)} - e^{\beta(x+y)}) \\ &= \psi(c)\psi(x+y). \end{split}$$

It follows from Corollary 4 that the functional equation (41) has a solution and the solution f is of the form (11). Moreover, since $\psi(3c) = \sqrt{\rho}(e^{3\alpha c} - e^{3\beta c}) = 2\sqrt{\rho}e^{3\alpha c}$ by (43), (11) becomes

$$f(x) = \pm \frac{1}{\lambda} \sqrt{\lambda} + \frac{2\sqrt{\rho}e^{3\alpha c}}{(2\sqrt{\rho}e^{\alpha c})^3} \sqrt{\rho} (e^{\alpha x} - e^{\beta x}) - \frac{1}{2\lambda\sqrt{\rho}e^{\alpha c}} \sqrt{\rho} (e^{\alpha (x+c)} - e^{\beta (x+c)})$$
$$= \pm \frac{1}{\lambda} \sqrt{\lambda} + \frac{1}{4\rho} \sqrt{\rho} (e^{\alpha x} - e^{\beta x}) - \frac{1}{2\lambda e^{\alpha c}} (e^{\alpha c}e^{\alpha x} - e^{\beta c}e^{\beta x})$$
$$= \pm \frac{\sqrt{1+4\lambda\rho}}{2\lambda} (e^{\alpha x} - e^{\beta x}) - \frac{1}{2\lambda} (e^{\alpha x} + e^{\beta x}).$$

The proof is complete. \Box

Taking $\alpha = i$, $\beta = -i$ and $\rho = -d/4$ in Corollary 8, we have the following:

Corollary 9. Let λ and d be nonzero complex numbers. Then the functional equation

$$f(x+y) + \lambda f(x)f(y) = d\sin x \sin y \quad (x, y \in \mathbb{R})$$

has a solution and the solution is given by

$$f(x) = \pm \frac{\sqrt{\lambda d - 1}}{\lambda} \sin x - \frac{1}{\lambda} \cos x \quad (x \in \mathbb{R}).$$

The case where $\lambda = -1$ and d < -1 in Corollary 9 is the result by Rassias:

Corollary 10. (Rassias [6]) Let d be a real number with d < -1. Then the functional equation (1) has exactly two solutions $f(x) = \pm \sqrt{-d-1} \sin x + \cos x$.

Next we consider the Hyers–Ulam stability of Eq. (41). If α and β are purely imaginary, then the function ψ defined by (42) is bounded on \mathbb{R} . Hence we can apply Theorem 6 and obtain the following corollary:

Corollary 11. Let λ , ρ be nonzero complex numbers and a, b distinct real numbers. For the functional equation

$$f(x+y) + \lambda f(x)f(y) = \rho \left(e^{iax} - e^{ibx}\right) \left(e^{iay} - e^{iby}\right) \quad (x, y \in \mathbb{R}),$$
(45)

there exists a constant $K = K(\lambda, \rho, a, b)$ with the following property: For any nonnegative number $\varepsilon < 4|\rho|$ and any complex function g on \mathbb{R} satisfying

 $\left|g(x+y)+\lambda g(x)g(y)-\rho \left(e^{iax}-e^{ibx}\right)\left(e^{iay}-e^{iby}\right)\right|\leqslant \varepsilon \quad (x,y\in \mathbb{R}),$

there is a solution f of (45) such that (14) holds.

Taking $\lambda = -1$, a = 1, b = -1 and $\rho = -d/4$ in Corollary 11, we obtain the result by S.-M. Jung:

Corollary 12. (S.-M. Jung [4]) Let d be a real number with d < -1. For the functional equation (1), there exists a constant K = K(d) with the following property: For any nonnegative number $\varepsilon < |d|$ and any complex function g on \mathbb{R} satisfying

$$|g(x+y) - g(x)g(y) - d\sin x \sin y| \leq \varepsilon \quad (x, y \in \mathbb{R}),$$

there is a solution f of (1) such that (14) holds.

References

- [1] S. Butler, Problem no. 11030, Amer. Math. Monthly 110 (2003) 637.
- [2] G.L. Forti, Hyers–Ulam stability of functional equations in several variables, Aequationes Math. 50 (1995) 143–190.
- [3] D.H. Hyers, On the stability of the linear functional equations, Proc. Natl. Acad. Sci. USA 27 (1941) 222–224.
- [4] S.-M. Jung, Hyers–Ulam stability of Butler–Rassias functional equation, J. Inequal. Appl. 2005 (2005) 41–47.
- [5] T. Miura, S. Miyajima, S.-E. Takahasi, A characterization of Hyers–Ulam stability of first order linear differential operators, J. Math. Anal. Appl. 286 (2003) (2005) 136–146.
- [6] M.Th. Rassias, Solution of a functional equation problem of Steven Butler, Octogon Math. Mag. 12 (2004) 152–153.
- [7] W. Rudin, Principles of Mathematical Analysis, third ed., McGraw-Hill, 1976.
- [8] S.M. Ulam, Problems in Modern Mathematics, Wiley, New York, 1964 (Chapter VI).